# REQUEST FOR QUOTATION IP Cameras and Network Video Recorders

### **EXHIBIT A - Pricing Page**

Please complete with requested detail. Only those categories listed on this pricing page will be accepted; no separate reimbursements for permits, administrative or travel will be considered or

approved.

Product	QTY	Unit Price	Total Price
Axis P1455-LE-3 Outdoor Camera, or equal	2	\$1,662.00	\$3,324.00
Axis P3265-LV Indoor Camera, or equal	20	\$830.00	\$16,600.00
AXIS P3265-LVE 9mm Outdoor Camera, or equal	3	\$968.00	\$2,904.00
AXIS P3267-LVE Outdoor Camera, or equal	2	\$1,192.00	\$2,384.00
AXIS P3268-LV Indoor Camera, or equal	1	\$1,262.00	\$1,262.00
AXIS P3268-LVE Outdoor Camera, or equal	4	\$1,395.00	\$5,580.00
AXIS P3715-PLVE Indoor MD Camera, or equal	1	\$1,245.00	\$1,245.00
AXIS C1310-E Outdoor Horn Speaker, or equal	4	\$725.00	\$2,900.00
AXIS S2224 Camera Station Appliance(NVR), or equal	3	\$6,184.00	\$18,552.00
AXIS Camera Station Software Program, or equal	1	INCLUDED	INCLUDED

## Equipment Total \$ 54,751.00

Additional required components (example: wiring, mounts, hoods, hard drives, conduit, hardware, general supplies, etc. for full system implementation).	\$3,033.50	
Labor – Installation/Set-up/Training	<b>\$</b> 11,315.50	

BID TOTAL	\$69,100.00	
All Equipment, Components,		
Labor/Install/Training		

Please provide the following information to allow for follow as needed:

Contact Name:	Adam Pettay
---------------	-------------

**Telephone Number:** 740-708-2131

Email Address: adam.p.pettay@jci.com

Signature: Adam Pettay

Template Revised 06/08/18

# REQUEST FOR QUOTATION IP Cameras and Network Video Recorders

## **EXHIBIT A - Pricing Page**

Please complete with requested detail. Only those categories listed on this pricing page will be accepted; no separate reimbursements for permits, administrative or travel will be considered or

approved.

pproved.  Product	QTY	Unit Price	Total Price	
Axis P1455-LE-3 Outdoor Camera, or equal	2	\$1,662.00	\$3,324.00	
Axis P3265-LV Indoor Camera, or equal	20	\$830.00	\$16,600.00	
AXIS P3265-LVE 9mm Outdoor Camera, or equal	3	\$968.00	\$2,904.00	
AXIS P3267-LVE Outdoor Camera, or equal	2	\$1,192.00	\$2,384.00	
AXIS P3268-LV Indoor Camera, or equal	1	\$1,262.00	\$1,262.00	
AXIS P3268-LVE Outdoor Camera, or equal	4	\$1,395.00	\$5,580.00	
AXIS P3715-PLVE Indoor MD Camera, or equal	1	\$1,245.00	\$1,245.00	
AXIS C1310-E Outdoor Horn Speaker, or equal	4	\$725.00	\$2,900.00	
AXIS S2224 Camera Station Appliance(NVR), or equal	3	\$6,184.00	\$18,552.00	
AXIS Camera Station Software Program, or equal	1	INCLUDED	INCLUDED	

### Equipment Total \$ 54,751.00

Additional required components (example: wiring, mounts, hoods, hard drives, conduit, hardware, general supplies, etc. for full system	\$3,033.50
implementation).	<b>\$</b> 11,315.50
Labor - Installation/Set-up/Training	

BID TOTAL	\$69,100.00	
All Equipment, Components,		
Labor/Install/Training		

Please provide the following information to allow for follow as needed:

Contact Name: Adam Pettay

**Telephone Number:** <u>740-708-2131</u>

Email Address: adam.p.pettay@jci.com

Signature: Adam Pettay

Template Revised 06/08/18



Telephone +1 860-241-4493

Website: wtwco.com
E-mail: sam begun@willistowerswatson.com

September 7, 2022

Johnson Controls Security Solutions LLC Attn: Eli Hensel 108 Craddock Way Poca, WV 25159

RE:

**Obligee: West Virginia State Treasurers Office** 

Bid Bond for: Camera System & Network Recorders and Related Equipment, Solicitation

No. CRFQ 1300 STO2300000002 Bid Date: September 7, 2022

As you requested, we are pleased to provide the attached bid bond documents. This bond has been executed based upon the information we received from your office.

We urge you to check all bond documents, including signatures, dates, amounts, job description, Power of Attorney and any other attachments to avoid the possibility of having a low bid rejected. Additionally, please verify that the bid bond form attached is the form required by the specifications.

The Bid Bond authorization is based upon your original estimate. If the bid exceeds this estimate by 10% or more, the bond must be reauthorized by the surety. Please contact us for additional authority.

Your bid results are very important. Please send your bid results to my email address shown above as soon as they are available.

Thank you for the opportunity to service your surety needs. Should you have any questions, please do not hesitate to contact me or any member of your Willis surety team.

Sam	Begun

Sincerely,

Your Bid Results are very importa	nt. Please forward them to us as soon as the job bids.
Were you Low? Yes No	
1st Bidder & Amount Bid	
2nd Bidder & Amount Bid	
3rd Bidder & Amount Bid	
Your bid (if not listed above)	

#### CHUBB'

#### **Power of Attorney**

Federal Insurance Company | Vigilant Insurance Company | Pacific Indemnity Company

Westchester Fire Insurance Company | ACE American Insurance Company

Know All by These Presents, that FEDERAL INSURANCE COMPANY, an Indiana corporation, VIGILANT INSURANCE COMPANY, a New York corporation, PACIFIC INDEMNITY COMPANY, a Wisconsin corporation, WESTCHESTER FIRE INSURANCE COMPANY and ACE AMERICAN INSURANCE COMPANY corporations of the Commonwealth of Pennsylvania, do each hereby constitute and appoint Cassandra Baez, Amanda Pierina D'Angelo, Brendan William Fletcher, Jennifer Gail Godere, Rebecca M. Josephson, Michelle Anne McMahon, Aimee R Perondine, Donna M Planeta, Kathryn Pryor, Joshua Sanford, Bethany Stevenson, Gentry Stewart, Jacqueline Rose Susco and Nicholas Turecamo of Hartford, Connecticut -

each as their true and lawful Attorney-in-Fact to execute under such designation in their names and to affix their corporate seals to and deliver for and on their behalf as surety thereon or otherwise, bonds and undertakings and other writings obligatory in the nature thereof (other than bail bonds) given or executed in the course of business, and any instruments amending or altering the same, and consents to the modification or alteration of any instrument referred to in said bonds or obligations.

In Witness Whereof, said FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, PACIFIC INDEMNITY COMPANY, WESTCHESTER FIRE INSURANCE COMPANY and ACE AMERICAN INSURANCE COMPANY have each executed and attested these presents and affixed their corporate seals on this 16th day of March, 2022.

Dawn M. Chlores

Pawa M. Chloros, Assistant Secretary



STATE OF NEW IERSEY County of Hunterdon

SS

Huruf adm

Strnffe

On this 16th day of March, 2022 before me, a Notary Public of New Jersey, personally came Dawn M. Chloros and Stephen M. Haney, to me known to be Assistant Secretary and Vice President, respectively, of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, PACIFIC INDEMNITY COMPANY, WESTCHESTER FIRE INSURANCE COMPANY and ACE AMERICAN INSURANCE COMPANY, the companies which executed the foregoing Power of Attorney, and the said Dawn M. Chloros and Stephen M. Haney, being by me duly sworn, severally and each for herself and himself did depose and say that they are Assistant Secretary and Vice President, respectively, of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, PACIFIC INDEMNITY COMPANY, WESTCHESTER FIRE INSURANCE COMPANY and ACE AMERICAN INSURANCE COMPANY and know the corporate seals thereof, that the seals affixed to the foregoing Power of Attorney are such corporate seals and were thereto affixed by authority of said Companies; and that their signatures as such officers were duly affixed and subscribed by like authority.

Notarial Seal



KATHERINE J. ADELAAR NOTARY PUBLIC OF NEW JERSEY No. 2316685 Commission Expires July 16, 2024

#### CERTIFICATION

Resolutions adopted by the Boards of Directors of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, and PACIFIC INDEMNITY COMPANY on August 30, 2016; WESTCHESTER FIRE INSURANCE COMPANY on December 11, 2006; and ACE AMERICAN INSURANCE COMPANY on March 20, 2009:

"RESOLVED, that the following authorizations relate to the execution, for and on behalf of the Company, of bonds, undertakings, recognizances, contracts and other written commitments of the Company entered into in the ordinary course of business (each a "Written Commitment"):

- Each of the Chairman, the President and the Vice Presidents of the Company is hereby authorized to execute any Written Commitment for and on behalf of the Company, under the seal
- Each duly appointed attorney-in-fact of the Company is hereby authorized to execute any Written Commitment for and on behalf of the Company, under the seal of the Company or otherwise. to the extent that such action is authorized by the grant of powers provided for in such person's written appointment as such attorney-in-fact.
- fact of the Company with full power and authority to execute, for and on behalf of the Company, to appoint in writing any person the attorney-in-as may be specified in such written appointment, which specification may be by general type or class of Written Commitments or by specification of one or more particular Written Commitments.
- Each of the Chairman, the President and the Vice Presidents of the Company is hereby authorized, for and on behalf of the Company, to delegate in writing to any other officer of the Each of the Company the authority to execute, for and on behalf of the Company, under the Company's seal or otherwise, such Written Commitments of the Company as are specified in such written delegation, which specification may be by general type or class of Written Commitments or by specification of one or more particular Written Commitments.
- The signature of any officer or other person executing any Written Commitment or appointment or delegation pursuant to this Resolution, and the seal of the Company, may be affixed by facsimile on such Written Commitment or written appointment or delegation.

FURTHER RESOLVED, that the foregoing Resolution shall not be decried to be an exclusive statement of the powers and authority of officers, employees and other persons to act for and on behalf of the Company, and such Resolution shall not limit or otherwise affect the exercise of any such power or authority otherwise validly granted or vested.

I, Dawn M. Chloros, Assistant Secretary of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, PACIFIC INDEMNITY COMPANY, WESTCHESTER FIRE INSURANCE COMPANY and ACE AMERICAN INSURANCE COMPANY (the "Companies") do hereby certify that

- the foregoing Resolutions adopted by the Board of Directors of the Companies are true, correct and in full force and effect,
- the foregoing Power of Attorney is true, correct and in full force and effect.

Given under my hand and seals of said Companies at Whitehouse Station, NJ, this 9/7/2022



Drunn Chieres

Dawn M Chloros, Assistant Secretary

#### **BID BOND**

	KNOV	W ALL MEN BY TH	HESE PRESENTS,	That we, the undersigned,	Johnson Controls Security Solutions LLC
	_ of_	Poca			as Principal, and <u>Federal Insurance Company</u>
	_of_	Whitehouse Station			rganized and existing under the laws of the State of
Indiana			_		as Surety, are held and firmly bound unto the State
					d (\$5%) for the payment of which,
well and	truly t	o be made, we joir	ntly and severally bir	nd ourselves, our heirs, add	ninistrators, executors, successors and assigns.
					and the state of t
					ncipal has submitted to the Purchasing Section of the
Departm	ent of				de a part hereof, to enter into a contract in writing for
		Camera System &	Network Recorders a	ina Relatea Equipment, Solic	citation No. CRFQ 1300 STO2300000002
	NOW	THEREFORE,			
	(a)	if eald hid shall	l be rejected, or		
	thi	If eald hid sha	all be accepted and	the Principal shall enter	into a contract in accordance with the bid or proposal
the sere	amont	rested by the ac	centance of said bid	then this obligation shall	ne bid or proposal, and shall in all other respects perform be null and void, otherwise this obligation shall remain in
full force	and o	effect. It is expres	sly understood and	agreed that the liability of	the Surety for any and all claims hereunder shall, in no
event, e	xceed	the penal amount	of this obligation as	herein stated.	
	The S	Surety, for the valu	received, hereby	stipulates and agrees that	the obligations of said Surety and its bond shall be in no
way imp	aired	or affected by any	y extension of the ti	me within which the Oblig	ee may accept such bid, and said Surety does hereby
waive no	otice o	f any such extensi	OH.		
					executed and sealed by a proper officer of Principal and
Surety,	or by F	Principal individuali	ly if Principal is an in	dividual, this 7th day of	<u>September</u> , 20 22
Principa	l Seal				Johnson Controls Security Solutions LLC (Name of Principal)
					(1) (2
					Must be President, Vice President, or
					Duly Authorized Agent)
					Donna Planeta, Attorney-in-Fact
					(Title)
					Federal Insurance Company
Surety S	Seal				(Mame of Surety)
					Se May 1
					Amanda Pierina Attorney-in-Fact
					D'Angelo
(MPOR)	TANT ttach a	<ul> <li>Surety executing power of attorner</li> </ul>	ng bonds must be l ey with its seal affi	icensea in west virginia ced.	to transact surety insurance, must affix its seal, and



## DELEGATION OF AUTHORITY

The undersigned, Authorized Signatory of Johnson Controls Security Solutions LLC, a Delaware limited liability company (the "Company"), pursuant to the authority vested in him by a certain Delegation of Authority Certificate issued by the Company on June 12, 2019, hereby authorizes:

Donna Planeta
Assistant Client Services Specialist
Willis Towers Watson
10 State House Sq., Floor 11
Hartford, CT 06103

to perform, on behalf of the Company, the acts described below:

To execute, seal and deliver, as attorney-in-fact for the Company, surety bonds forwarded to Willis of New York, Inc. by the Company that do not exceed Two Million Dollars (\$2,000,000.00) that are necessary and proper in carrying on the business of the Company.

This authority shall remain in full force and effect for one (1) year from the date of issue unless earlier revoked in writing by the undersigned or the Company President or any Vice President.

Signed at Milwaukee, Wisconsin, this - Hyday of September 22-

Craig A. Bartol, Authorized Signatory